H & 0l & AHS B Ml A

Z0IME 2
HH2IZH| (LM A (O1EHIIE})
=2l EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Sl R t 72,605,521 68,314,989 4,350,532
= 43,505,895
[ 1,629,161
Il 1,011,786
< 5,544,436
= 20,974,243
HH2IAH|(FUHE R ) (JIEHIIE 48,870 48,870 0
Jl=23H| 48,870 48,870 0
Jl=23H] 48,870 48,870 0
201 fet=23y| 19,080 19,080 0
01 AtR2te|HI 17,520 17,520 0
Oget=EH| 10,320,000 10,320
O=gHt| 8,000& x 1554112 7,200
2 352484l 1,560 1,560 0
O8&82= £ HA 130,000& « 12 1,560
202 04l 24,990 24,990
01 =LHOHI 24,990 24,990
ORASS JI=A2E oyl
108,000 x 15 12& 19,440
Oz2odl(#3E &4 S)
74,0002 x 15«5 5,550
203 HR=H] 4,800 4,800
M EA2ER=A 4,800 4,800
ORN2g IR (F302!015t)
400,000 12& 4,800
SXNSE(MEIEX/ 0l - Had) 49,983,138 47,249,369 2,733,769
= 33,891,206
[ 1,295,541
Il 194,009
== 2,472,297
o 12,130,085
LelEXsd 37,289,312 36,836,193 1,453,119
= 30,715,725
[ 1,295,541
Jl 194,009
s 913,340
s 4,170,697
223 WA 127,904 127,808 %
101 e124d| 3,504 3,408 %6
M ORNZZ2NSE S 3,504 3,408 %
Oolgdz S4EXEl 28y
9,860 xBA| 22 +20& 3,156
o4t 282 3,155,200& 1% 348
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2A:
PSER
o e

el

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

HoH W

30,715,725
682,572
2,730,286

34,128,583,000&

MW

34,128,583
34,128,583
30,715,725
682,572
2,730,286

32,759,442

1,369, 141

oA

154,286
77,143
38,572
38,571

143,394

10,892

307 212+01™

Moo

154,286
77,143
38,572
38,571

143,3%4

10,892

=N

11 MBS XA

A
=
OSH - SSZ0K

ol

fuid

o
S=¢

HOFA M| A

154,286,000

Moo

154,286

154,286
77,143
38,572
38,571

143,394

10,892

r

i
=

=]
un
il

MHIA

A
Off

Mo

1,740,570
1,218,398
156,652
365,520

1,810,870

A70,300

307 212told

HH A

1,740,570
1,218,398
156,652
365,520

1,810,870

270,300

H0
02

1,740,570,000&

A H A

1,740,570

1,740,570
1,218,398
156,652
365,520

1,762,870

A22,300

454,500

454,500

4,500

4,500

4,500

4,500

4,500

450,000

450,000

450,000

450,000




2A:

PSRL N ;‘&'%ﬂ%&'(/\@l%ll/i&' HAaH)
e el - PN ES EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SUFENIEEETRE
60,0003 *7,500 450,000
ICT ¢l 2I3Xs SE==AMtY 209,609 232,679 A23,070
J| 194,009
& 4,680
= 10,920
307 212+01 A 209,609 232,679 223,070
| 194,009
= 4,680
= 10,920
11 AL SXAMEEER 209,609 232,679 A23,070
OICTe QIBXS SBESAIAIALHN &
L 29) 209,609,000 * 171 A 209,609
| 194,009
= 4,680
= 10,920
S&&dH=2 AH 40,000 40,000 0
301 LEtBNZ 40,000 40,000 0
02 MBI EZASGS(HUAS, XLTHA) 40,000 0 40,000
O3 o1& JHE S&E&8HS K=
200,000 23| * 100 40,000
LOISSE=SAUIA SAHA 18 - SdiHl XI& 66,360 0 66,360
& 13,272
= 53,088
307 QIZt01 A 66,360 0 66,360
= 13,272
= 53,088
10 IS SXAEHE2ZHIEX 66,360 0 66,360
OLQIUESE EAX DE - S4H| N
70,0003 79 »12& 66,360
& 13,272
= 53,083
=512 X2 160,000 160,000
301 LB F 160,000 160,000
02 MBI 2EAHS(HUYAHS, NSTHA) 160,000 160,000
O&£=L01(BAH) BxFot2 K=
160% *1,000,000& 160,000
LOISTIAIE 2t 6,383,373 6,509,337 A125,964
= 353,416
& 634,175
= 5,3%,782
LOoI=XIAE 2 X3 3,464,530 3,618,658 A154,128
= 480,870
= 2,983,660




FA 2SR
M LOISXSA(MEIER/ L0l - HAH)
el ERISXIAIE 2e (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 3,172 2,572 600
01 At2teltl 3,172 2,572 600
Odgt+=ZH| 2,500
~NSEE S 7Y
10,0003 *105+53] 500
—IRYIIB NT ARG 2Y4E
100,000 4 & +53] 2,000
O=gH| 8,000 x38 284 672
301 EtE N = 3,237,758 3,392,006 A154,248
= 413,790
[Ea 2,823,968
02 A EEHS(FIANE, XLTHE) 3,237,758 3,392,006 A154,248
OMIH= X & Ml A
248,230,000 * 11 £ 248,230
== 24,823
[Ea 223,407
OMIt=Ql QLTRSS
1,684,404,000& 1,684,404
= 168,440
[Ea 1,515,964
O=F - ORIES SS2AA g4HIE
19,200,000& 19,200
== 1,920
[Ea 17,280
OLQQAAE FQYFLES
1,285,924,000& 1,285,924
= 218,607
[Ea 1,067,317
307 @120l & 223,600 224,080 A480
s 67,080
s 156,520
10 Al2ISTIAEEE2HIEX 223,600 224,080 A480
OLQ=XAIE SALA =&
223,600,000 223,600
& 67,080
= 156,520
d=zd =29 1,141,080 985,776 185,304
= 35,520
Ea 1,105,560
201 Zet=3hl 178,864 6,000 172,864
01 AtR2t2lHl 100,720 6,000 9,720
OZzg 29 228 % 23| § 7Y
5,000 +600H*22] 6,000
OZ2E YFL=NY
80,0002 x296 9 A *42] 94,720




FA 2SR
M LOISKSE(AMEI=X/ ol - HAH)
ool Col=XIAlS 22 (cie) 29
SA - B BRA(SH) - HRA - of v e HIDE2
2 222 78, 144 0 78,144
OZ2g FuAL|| AHIA X
22,0002 122 x2960H 2 78,144
301 EtE2 NS 363,000 260,000 93,000
02 A EEAHS(FANE, XLTHE) 260,000 0 260,000
O3dzg A 40,000,000& *23] 80,000
OZ2E SSFA M=dl X
90,000,000 x23] 180,000
14 JIEt2 83 93,000 0 93,000
OXNSSAN =2 SAE &
300,000& *310E*12] 93,000
307 gl2to| & 411,216 324,776 86,440
=S 35,520
s 375,696
06 28= 18,000 18,000 0
OZ2¢ si=d It K&
18,000,000 18,000
10 Al2ISXIAIEEE 22X 393,216 306,776 86,440
OZ=zd 24| 177,600,000 <22 365,200
= 35,520
o 319,680
OZ2Y =3 X273 Q1AH|
32,416,000& 1 32,416
OLQXEX WEHl S
140,000 ~40& 5,600
402 2I2F X201 & 18,000 85,000 267,000
01 QI X2 AL E A (KEHITHR) 18,000 45,000 27,000
OLQI0JAIE A2 22
500,000 * 109K 2 5,000
OZ=2¢ HISE=AY
1,000,000 * 1000 2 10,000
OZ2¢ gtas 25A
300,000& *109H 2 3,000
405 KHaHF =4I 180,000 130,000 50,000
01 ML ESFSHI 180,000 130,000 50,000
d2g gt & 2k K3 A
1,300, 0002 *1009H £ 130,000
O3ZY MMt dFSA 2X| AL
500,000 »1007H 2 50,000
F2EAE HEA 815,682 795,840 19,842
401 AlZHIZ S0 815,682 795,840 19,842
01 Al&H| 810,700 790,800 19,900
OZ=zg 212 AlEd
5,854,000 *500H 2 292,700
OZzdg 232+ & FA2 IS
148,000,000& 148,000




FA 2SR
M LOISXSA(MEIER/ L0l - HAH)
el ERISXIAIE 2e (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEEIEESEEENNEEN
350,000,000 x 14 350,000
OE84H 222 (0ts32) AIEIHE At
& 20,000,000& * 14! 20,000
03 Al 20HHI 4,982 5,040 A58
OZ2E AEMe FU
790,700,000& %0.63% 4,982
J2g dutddl & =8 X 720,216 750,278 230,062
= 363,416
< 106,025
Ea 260,775
307 elztol & 720,216 739,622 19,406
= 353,416
s 106,025
s 260,775
10 Al SXAEEE 22X 720,216 739,622 19,406
O3z s&J| el XN
344,000 x296 ) 2=+53] 509,120
= 254,560
=S 76,368
s 178,192
OZz2¢g 4| 165,000 x296 4 2~ +2E 97,680
= 48,840
= 14,652
o 34,188
OZ2g 7= 7
54,3703 x298 | A+72] 113,416
= 50,016
s 15,005
s 48,395
celEXS 23 6,665 3,665 3,000
201 Ler23 | 3,665 3,665 0
01 AtR2t2ltl 1,500 1,500 0
Ogit=3ZH| 1,500
—olsKa 2ea2E 7Y
150,000& %105 1,500
02 S3=gHl 2,165 2,165 0
OsE2= & HA 2,165
—olsX2 s IsA2e] 9l
180,416& ~12& 2,165
401 Al HIZ 2018 3,000 3,000
01 Al&H| 3,000 3,000
OL2=s2 AlE Rl 2=
3,000,000& %14 3,000
CRINIISXIAIE #8435t 235,200 341,040 105,840




2A:

3 ;‘&'%ﬂ%@(/\@l%ll/i@ HAU)
el ZOSXIAE 2l (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 11,760
s 223,440
307 lztol & 235,200 341,040 105,840
= 11,760
= 223,440
10 Al SXAAEEHE2EHI2x 235,200 341,040 105,840
OAl" Z218| X2
117,600,000 <22 235,200
=S 11,760
s 223,440
LOIASIF ORI 6,310,453 4,903,839 1,406,614
= 2,822,065
= 924,782
o 2,563,606
colgiiel & AtlZSAIE 5,644,130 4,231,818 1,412,312
= 2,822,065
= 846,620
Ea 1,975,445
307 el2to| & 5,644,130 4,231,818 1,412,312
= 2,822,065
= 846,620
= 1,975,445
11 AMEISXAEEE 5,644,130 4,231,818 1,412,312
O QAL 2SR A
5,644, 130,000& 5,644,130
= 2,822,065
& 846,620
= 1,975,445
Colst 2¢ N 23,000 23,000
307 elzto| & 23,000 23,000
04 QIZIHAIALE 2 & 23,000 23,000
okolis =249 XN&
11,500,000 *20H A 23,000
welol & Jlg A X 56,000 68,000 A12,000
307 212+01& 56,000 68,000 A12,000
04 QIZIHAIAIH E X 56,000 68,000 A12,000
OkQlo] & I8 A NI
56,000,000& *13] 56,000
Col2te AL X3 28,000 24,200 3,800
307 el2tol & 28,000 24,200 3,800
02 2IZHBYAIHE & 5,000 5,000 0
Otiet=els ISl M XS
5,000,000& 5,000
04 QIZHHAMAIH 2 £ 23,000 19,200 3,800




M FRIMEX A
MM LOI2XSX(AIR=SX]/ ol - HAE)
SRl LOIAIS EH XI& (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OLoItESAt S XA
1,500,000 *2J8 HXI 3,000
OIZEEHMSUHE HAF XA
6,000,000& *13] 6,000
O4z &HE AHOIE=ZUSE S K&
10,000,000 %13 10,000
OZXIAHH HOIESTE S X
500,000 & *43] 2,000
OSXIAN 22t2E=2E0s8 s K&
1,000,000 *23| 2,000
Lol =&AL 12,716 12,716
201 B2 AL| 4,416 4,416
01 ArR22ltl 4,416 4,416
Oger=2| 3,100
—Jt89 g D18 |RIX EEH M
100,000& x15% 1,500
—T2lHEH 7 200,000& *53] 1,000
—=SAMEX & 7
30,0003 105 +23] 600
O=&t| 8,000 x3% x344! 816
ogxz 500,000& *13] 500
202 04dl 7,200 7,200
01 =LHO4 b 7,200 7,200
OL2EXNYSR F&HY|
20,0003 x4ZH 90 7,200
203 AR F=&lh| 1,100 1,100
03 A FRIHRFAIY| 1,100 1,100
OL2I=sX Al HRFX
20,0003 *11H 53] 1,100
Lo At XA 121,739 120,957 782
& 14,162
i 107,577
307 gI2Hol ™ 121,739 120,957 782
= 14,162
= 107,577
02 QIZHA A AL E & 121,739 120,957 782
O&d=zAaY 22 95,726,680 *1JH 2 95,727
= 12,850
i 82,877
OnzZssd 29 1,800,000 100 &~ 1,800
& 450
i 1,350
OLQl (ot E EeAteY
17,712,000 x 10 2 17,712
= 862




FA 2SR
M LOISKSE(AMEI=X/ ol - HAH)
Chelr ZOIANSI & X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 16,850
O&F==AH HMIZ 30,0002 *50H 1,500
Okeltlz &2t 5,000,000 5,000
et Qa2 XA 104,868 103, 148 1,720
307 elztol & 104,868 103, 148 1,720
03 2IIHHEE2SHIE X 104,868 103, 148 1,720
O2lsXa 23 78,867,400 * 100 2 78,868
Ok0ls sHEs 2¢
500,000 * 1301 S 2«42l 26,000
ALIGIZEE 292 320,000 320,000 0
[ 64,000
T 256,000
307 glztol & 320,000 320,000 0
= 64,000
= 256,000
10 Al SXAAEEHE2EHI2x 320,000 320,000 0
OAILICIZE 24l 320,000,000 320,000
= 64,000
Ea 256,000
ZOHI S X XIZ (MEIEXN/FHLHEXH) 11,554,390 10,402,790 1,151,600
= 6,593,816
== 1,328,153
o 3,632,421
el =X 58 11,554,390 10,402,790 1,151,600
= 6,593,816
= 1,328,153
o 3,632,421
o 2l=dl X 60,212 47,339 12,873
= 48,169
= 8,430
[Ea 3,613
308 AXIMSO0IA 60,212 47,339 12,873
= 48,169
= 8,430
= 3,613
18 SIS0t 4 A AS A 60,212 47,339 12,873
OZofel 2l=Hl X 60,212,000& 60,212
= 48,169
[ 8,430
Ea 3,613
o= 1,846,917 1,737,550 109,367
= 1,292,842
[ 166,223




AR v 1= NG Wy
B FOjRI=TI XIS (MESK/F A ST )
Rl ZoHe! =X S& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o 387,852
301 EtE NS 1,846,917 1,737,550 109,367
= 1,292,842
= 166,223
= 387,852
01 Al EE AT Z(2DEXR) 1,846,917 1,737,550 109,367
(OFS{1uifeit=JoNI= 1,846,917,000 1,846,917
= 1,292,842
S 166,223
= 387,852
== (01x) XA 271,110 234,939 36,171
= 189,777
< 56,933
s 24,400
301 EtE NS 271,110 234,939 36,171
= 189,777
== 56,933
[Ea 24,400
01 AR 2EHSHS(RDNEXRTH) 271,110 234,939 36,171
OFM=Ix) K= 271,110,000 271,110
= 189,777
=S 56,933
s 24,400
o= (XA 8) XEAY 160,870 163,399 7,471
= 112,609
=S 33,783
s 14,478
301 EetE2 NS 160,870 183,399 7,471
= 112,609
= 33,783
Ea 14,478
01 Al EE A S (2 RDEXMA) 160,870 163,399 7,471
OZM==E (9 S) X3
160,870,000& 160,870
= 112,609
= 33,783
Ea 14,478
THl H0H=+E 13,507 13,507 0
== 4,052
o 9,455
301 22N = 13,507 13,507 0
[ 4,052
T 9,455




2A:
X XH -
o e

=aak

Z=QIMB D
RONQIS I X (AFSI= X/ F S HEXI)
Dol =X =

. SHA(3H) - MRAY

- HyS

Ofl &F2H

MEE
Ofl &k2h

02 MBI 2HHSFHS(HAANS, XLHE)

13,507,000&

M H

13,507
13,507
4,052
9,455

13,507

ZOHQld el X & (et xtel)

MW

354,860
177,430

53,229
124,201

432,514

NTT7,654

101 2124d|

Mo W

354,860
177,430

53,229
124,201

432,514

NT7,654

04 JIZtNZ22XSE =
O xtel

lAbI(Yets 2Xiel)

HoH W

354,860

354,860
177,430

53,229
124,201

432,514

ANTT,654

oL X2 XI& (AL Rt2l)

HoH W

162,666
81,333
24,400
56,933

129,786

32,880

101 e124d|

HH W

162,666
81,333
24,400
56,933

129,786

32,880

04 JIZtN2Z2 X S8+
OF eI xte

QIAHI(AIZFRI L Xtel)

162,666,000

HoH W

162,666

162,666
81,333
24,400
56,933

129,786

32,880

ZOQI L K2 XIR (=X L Rt2l)

HoH W

228,046
114,023
34,207
79,816

209,216

18,830

101 e124d|

MW

226,046
113,023
33,907
79,116

207,216

18,830

M4 JIZtH2Z2ISE S
OFOoeILIe| olAHI (=X Xel)

226,046,000

W

226,046

226,046
113,023

207,216

18,830
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OISSXIA(EX) 460,680 349,000 111,680
= 322,476
& 41,461
= 96,743
307 glztol & 460,680 349,000 111,680
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T O - R0F SNST(ABIZX/2S - HSU0IA)
&l EsMHIA S (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 322,476
=S 41,461
2 9,743
1 ABIS XA EE 460,680 39,000 111,680
OO0IIS 20| TR
460,680,000 * 1 A+1H 460,680
= 322,476
= 41,461
o 96,743
OOISSXIA (XHAI) 28,000 30,000 A2,000
307 212+01& 28,000 30,000 A2,000
11 AMEISXAEEES 28,000 30,000 22,000
OO0tolE= =t NEA
28,000,000 28,000
SSH0L=H 28 X2 56,712 54,846 1,866
Il 28,356
< 8,507
= 19,849
307 elztol & 56,712 54,846 1,866
Il 28,356
== 8,507
o 19,849
11 AMRISXAEEES 56,712 54,846 1,866
O8S=0Li=H 2¢ X2
56,712,000 * 17 2+ 1 56,712
Il 28,356
s 8,507
s 19,849
EBLI20| |FO0HYH 22 266,882 223,640 43,242
307 glztol & 266,882 223,640 43,242
05 2ItRIE =2 266,882 223,640 43,242
OsL=20l Fordle 2¢
266,882,000 » 100 2 266,882
0lgl0lE RE2RY 28& 1,800 1,800 0
= 360
o 1,440
307 @I2to1 & 1,800 1,800 0
== 360
o 1,440
11 AMRISXAEEES 1,800 1,800 0
OO0IEl0lY 3-5M 2R 252
1,800,000 10K 2 1,800
= 360
= 1,440
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&l EsMHIA S (EEEE))
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Oglold 2 XI&(XHA) 25,900 33,300 AT,400

201 er23 | 1,800 1,500 300
01 AfR22IH| 1,800 1,500 300
OPSEMAs| AAST
100,0002x102*13] 1,000
O22= HH 400,000 22 800
307 212t01& 24,100 31,800 AT7,700
10 Al SXAIEEHE2EHI2X 24,100 31,800 AT7,700
OZFEXE oold Wiu+4l K&
500,000 x57H 2 2,500
Ooelold SE&sH| X2
100,000 «6IH A+ 123 7,200
O0glold 283 el2dl X
1,000,000 x1E 128 12,000
O0eloly ¢ttt X
200,000 »22]+6IH 2= 2,400
2230 (S0t+d) 1,082,520 757,168 325,352
= 703,638
[ 189,441
T 189,441
301 LELE NS 1,082,520 757,168 325,352
= 703,638
== 189,441
[ia 189,441
01 A2 H G2 (202X 1,082,520 757,168 325,352
O=230{(Z0t4+Z) X2
1,082,520,000& x 14 1,082,520
= 703,638
s 189,441
a 189,441
BSUAY HRMH X (=) 110,019 153,024 43,005
= 55,009
S 27,505
= 27,505
307 21201 & 110,019 153,024 A43,005
= 55,009
= 27,505
Ea 27,506
10 MEISAAEHE2EHIE2X 110,019 153,024 A\43,005
Y WAL XIRHI
11,294,000 604 A+ 1 67,764
= 33,882
= 16,941
Ea 16,941




A FRIMETIR
B 014 - R0 ST (ASSX /LS - HEL0IA)
&l EsMHIA S (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OMARNEZLY 520, 00021+1 520
2 260
= 130
2 130
OSEESDA S2224d
110,370 25+ 12& 33,111
= 16,555
= 8,278
2 8.278
OUBFEHLIA 42
1,724,800 x5 1 8,624
= 4,312
= 2,156
= 2,156
AZEHIESAHIA WS K& AFY 52,700 67,900 215,200
= 26,350
= 13,175
= 13,175
307 2I2+01 A 52,700 47,900 4,800
= 26,350
< 13,175
2 13,175
10 ASIZ A S Y22 X 52,700 47,900 4,800
OANHIZSAEIA HZ X2
52,700,000&* 10 A+ 1 52,700
= 26,350
T 13,175
= 13,175
Hglold stEdHIZ R 4,000 4,000 0
301 LPENZ 4,000 4,000 0
02 MBI EEHHS(HUAS, NLTHEA) 4,000 0 4,000
ooglold g &g X
100,000 x40 4,000
BREAML BI2E2E KA (KHA) 16,200 18,000 21,800
307 212+01™ 16,200 18,000 A1,800
10 Al S XA EEE2IHIE X 16,200 18,000 A1,800
OEFSAX 125 =5
30,0003 *45F « 12& 16,200
o=lold 2+Aldl XI& 21,600 24,000 A2,400
307 QIZ2t01 A 21,600 24,000 A2,400
10 IS SXAIEHE2ZHIEX 21,600 24,000 22,400
ONglold 2taldl X
10,0002 x180H + 12& 21,600
OEl0ld 2234l XA 43,030 18,243 24,787
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Eelr EFAHA g EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 12,909
s 30,121
307 lztol & 43,030 18,243 24,787
= 12,909
= 30,121
11 ARl S XA 43,030 18,243 24,787
ONgold 22ZHl XA
8,606,000 *57H 2 43,030
=S 12,909
s 30, 121
OLOI=E20l H2S&Hl XE A 540 540 0
< 162
= 378
307 elztol & 540 540 0
= 162
= 378
1 AMEISXAEEES 540 540 0
OOIOI=20| AZS8H| XA
30,0002 18 540
= 162
o 378
e=e ROt 252 N& At 2,400 0 2,400
[ 480
T 1,920
307 glztol & 2,400 0 2,400
= 480
= 1,920
11 AMEISXAEEE 2,400 0 2,400
O2=0R0t 288 XI& A
100,000 x2&* 122 2,400
S 480
o 1,920
OlOISSAMHIA 21REE FIKA(EX) 30,000 0 30,000
[ 9,000
Ea 21,000
307 lztol & 30,000 0 30,000
= 9,000
= 21,000
11 AMEISXAEEES 30,000 0 30,000
OoloISsAtIAEIREE FIHIH
30,000,000 *1IH 2 30,000
= 9,000
Ea 21,000
O12l01E AlZohe 34,600 0 34,600
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401 Al HI2L 2O 34,600 34,600
01 A&t 34,600 34,600
OSB0RI0IE SOIE BT 22ue) & 2
B DA SA 1A 3,600, 00024+ 1H 4 3,600
O2IZORI0IE WHEI| TH A
31,000,000 %10 £ 31,000
HEE T2 M2 ZEMS 151,080 0 151,080
< 45,000
= 106,080
401 Al HIZL 01| 151,080 0 151,080
= 45,000
= 106,080
01 Al&H| 150,000 0 150,000
ONFE HUATAHD FEAIL
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= 45,000
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03 Al 20HHI 1,080 0 1,080
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= 18,156
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[Ea 812,063
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< 12,360
s 632,940
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= 3,000
= 28,500
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g40ts NE= 10,000,000 *3& 30,000
= 3,000
o 27,000
ooglol & 9= 1,500,000& 1,500
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10 MEISXAAEHE2EHIE2X 613,800 613,800 0
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48,550,000 « 128 582,600
OANESAL =Z 200,0003 x12H 133 31,200
< 9,360
s 21,840
KNS 0tSHE 24! K& 270,654 249,600 21,054
= 135,327
< 54,131
= 81,196
307 212t01™ 270,654 249,600 21,064
= 135,327
== 54,131
ia 81,196
10 Al2ISTIAIEEE 22X 270,654 249,600 21,054
OXIS0tsHIE o148l X2
222,150,000 222,150
s 111,075
== 44,430
[ia 66,645
OXISotsHIE! 24l K&
16,168,000 *37H & 48,504
= 24,252
== 9,701
T 14,551
XS 0otsHE 29 41,300 41,300 0
= 8,070
= 33,230
307 212t01™ 41,300 41,300 0
= 8,070
Ea 33,230
10 MEISXAEHE2EHIE2X 41,300 41,300 0
OXG0tSHIE el K&
1,366,666 *37H A 4,100
== 1,230
ia 2,870
OXSotsHE =J1 2gdl K&
7,200,000 *37H 2~ 21,600
= 2,160
o 19,440
OXS0tSHE SAIL =&
200,000 x6H 133 15,600
== 4,680
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[ 24,053
= 9,620
Ea 16,033
101 @1A4H| 48,106 74,920 N26,814
[ 24,053
= 9,620
= 14,433
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OOtS= XA 124H] X2
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[ 24,053
= 9,620
= 14,433
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01 =LHOHI 600 1,350 AT50
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OF%. 1% Iz 2o
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= 18,000
[ 1,125
T 3,375
SR BRI S 21,500,00024*1)H 4 21,500
= 17,200
< 1,075
s 3,225
COHes BRI S 20,640,000 *1)H 4 20,640
[ 16,512
== 1,032
= 3.09%6
11 #AIAMHIXIZ S 1,500 1,500 0
OCRAEIE DS L A BAT LS4
20,0002 102 +53] 1,000
[ 800
== 50
= 150
ONEZAR S BAX B
50,0002 x2H+53] 500
[ 400
= 25
[Ea 75
M HASFESS 15,300 15,300 0
[ 12,240
= 765
[Ea 2,29
0% R (SIHH) 22 PHREES S 15,300 15,300 0
013 ojzsg S
OALElIZt2IAL 221 S leTDE&@@@g*ggﬂgg 6.000
[ 4,800
= 300
= 900
. .
OAtIZEIAF RUAZEES B — .00
[ 4,800
= 300
[Ea 900
SCchn &=
SHARal SEEEs TDD9?666%*3E<§*12% 3,300
[ 2,640
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[ 495
307 2I2+0l™ 5,022 5,022 0
= 4,017
& 251
[ 754
01 22 & 35| 4,322 4,322 0
Ozl & HEES S 2=l
4,322,000 x 10 2 4,322
= 3,457
& 216
= 649
06 2832 700 700 0
O8AL Z2 )8 28X & E82
700,000& 700
= 560
T b
o 105
405 KHHE S| 1,098 1,098 0
= 879
& 55
= 164
01 AL =EFSHI 1,098 1,098 0
OCHAEE ZI| & HIE 7
1,098,000& 1,098
= 879
& 55
[ 164
NYotsEsdE=2I|1& 29 33,466 17,912 15,554
= 16,733
& 3,347
= 13,386
307 212+01™ 33,466 17,912 15,554
= 16,733
& 3,347
= 13,386
10 Al =S XA EEHE2IHIE X 33,466 17,912 15,554
OXldosEs #2012 29
33,466,000 33,466
= 16,733
T 3,347
= 13,386
NE0lsEsdEZI & 23| 4,025 2,776 1,249
& 805
o 3,220
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OXS A 200,000& *12] 200
202 04l 1,800 1,800
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